District L	.evel										Test Scor	es					
				#	A %	#	AA l _{o/}	м	B	#	C		D ov	#	E I o		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ART and DESIGN -A LVL	2	100.00%	2	0	0%	0	0%	0	0%	0	0%	0	0%	2	100.00%	0	0%
ART and DESIGN AS LVL	23	23.00%	100	0	0%	0	0%	0	0%	0	0%	6	6.00%	17	17.00%	77	77.00%
BIOLOGY	128	60.09%	213	3	1.41%	0	0%	11	5.16%	30	14.08%	39	18.31%	45	21.13%	85	39.91%
BIOLOGY 2	17	100.00%	17	0	0%	0	0%	1	5.88%	1	5.88%	6	35.29%	9	52.94%	0	0%
BUSINESS	73	100.00%	73	2	2.74%	0	0%	2	2.74%	26	35.62%	27	36.99%	16	21.92%	0	0%
BUSINESS STUDIES- AS LVL	324	35.29%	918	5	0.54%	0	0%	24	2.61%	76	8.28%	95	10.35%	124	13.51%	594	64.71%
CHEMISTRY	92	64.34%	143	2	1.40%	0	0%	7	4.90%	8	5.59%	25	17.48%	50	34.97%	51	35.66%
CLASSICAL STUDIES	73	55.73%	131	1	0.76%	0	0%	5	3.82%	13	9.92%	31	23.66%	23	17.56%	58	44.27%
CLASSICAL STUDIES-A LEVEL	25	100.00%	25	0	0%	1	4.00%	9	36.00%	6	24.00%	5	20.00%	4	16.00%	0	0%
COMP SCI-A LEVEL	1	100.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%	0	0%
COMP SCI-AS LEVEL	33	67.35%	49	3	6.12%	0	0%	2	4.08%	3	6.12%	12	24.49%	13	26.53%	17	34.69%
DESIGN & TECHNOLOGY	6	28.57%	21	0	0%	0	0%	1	4.76%	0	0%	0	0%	5	23.81%	15	71.43%
DIGIT MEDIA DESIGN A LVI	9	100.00%	9	1	11.11%	0	0%	0	0%	2	22.22%	4	44.44%	2	22.22%	0	0%
DIGIT MEDIA DESIGN AS Lvl	232	78.11%	297	0	0%	0	0%	6	2.02%	21	7.07%	88	29.63%	117	39.39%	65	21.89%
DRAMA A LVL	3	100.00%	3	0	0%	0	0%	1	33.33%	0	0%	2	66.67%	0	0%	0	0%
DRAMA AS LVL	88	84.62%	104	14	13.46%	0	0%	8	7.69%	26	25.00%	22	21.15%	18	17.31%	16	15.38%
ECONOMICS - A LEVEL	2	100.00%	2	0	0%	0	0%	0	0%	0	0%	2	100.00%	0	0%	0	0%
ECONOMICS - AS LEVEL	3	42.86%	7	0	0%	0	0%	0	0%	0	0%	0	0%	3	42.86%	4	57.14%
ENGLISH GENERAL PAPER	6826	72.76%	9382	572	6.10%	0	0%	931	9.92%	1,520	16.20%	1,972	21.02%	1,833	19.54%	2,556	27.24%
ENGLISH LANGUAGE - A LEVEL	229	100.00%	229	0	0%	0	0%	7	3.06%	34	14.85%	92	40.17%	96	41.92%	0	0%
ENGLISH LANGUAGE - AS LEVEL	3825	66.80%	5726	218	3.81%	0	0%	530	9.26%	862	15.05%	1,107	19.33%	1,108	19.35%	1,913	33.41%
ENVIROMENTAL MANAGEMENT	964	82.46%	1169	103	8.81%	0	0%	202	17.28%	261	22.33%	241	20.62%	157	13.43%	205	17.54%
FRENCH- AS LVL	52	57.14%	91	15	16.48%	0	0%	10	10.99%	11	12.09%	8	8.79%	8	8.79%	39	42.86%
GEOGRAPHY	5	25.00%	20	0	0%	0	0%	0	0%	1	5.00%	2	10.00%	2	10.00%	15	75.00%
GLOBAL PERSPEC & RESEAR 1	2476	92.73%	2670	373	13.97%	0	0%	552	20.67%	753	28.20%	521	19.51%	277	10.37%	194	7.27%

District I	_evel										Test Scor	es					
					A		AA		В	"	C	"	D	.,	E		U
CLODAL PEDCRECTIVES & RESEARCH A LEVEL	227	1 00 000	227	#	%	#	%	#	%	#	%	#	%	#	%	#	%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	337	100.00%	337	51	15.13%	3	0.89%	135	40.06%	91	27.00%	44	13.06%	13	3.86%	0	0%
HISTORY- A Level	173	100.00%	173	4	2.31%	0	0%	16	9.25%	28	16.18%	55	31.79%	70	40.46%	0	0%
HISTORY- AS Level	2832	53.89%	5255	101	1.92%	0	0%	374	7.12%	640	12.18%	820	15.60%	904	17.20%	2,441	46.45%
INFORMATION TECHNOLOGY	53	47.32%	112	5	4.46%	0	0%	7	6.25%	7	6.25%	10	8.93%	24	21.43%	59	52.68%
LANGUAGE	215	100.00%	215	2	0.93%	0	0%	14	6.51%	52	24.19%	98	45.58%	49	22.79%	0	0%
LITERATURE	1801	60.48%	2978	52	1.75%	0	0%	150	5.04%	411	13.80%	538	18.07%	650	21.83%	1,179	39.59%
MARINE SCIENCE- A LVL	513	100.00%	513	29	5.65%	6	1.17%	67	13.06%	136	26.51%	152	29.63%	123	23.98%	0	0%
MARINE SCIENCE- AS LVL	1362	62.59%	2176	72	3.31%	0	0%	209	9.60%	284	13.05%	388	17.83%	409	18.80%	814	37.41%
MATHEMATICS	369	57.21%	645	33	5.12%	0	0%	33	5.12%	90	13.95%	86	13.33%	127	19.69%	276	42.79%
MEDIA STUDIES-A LVL	12	100.00%	12	0	0%	0	0%	0	0%	3	25.00%	7	58.33%	2	16.67%	0	0%
MEDIA STUDIES-AS LVL	722	74.20%	973	19	1.95%	0	0%	47	4.83%	197	20.25%	263	27.03%	196	20.14%	251	25.80%
MUSIC	16	88.89%	18	0	0%	0	0%	2	11.11%	5	27.78%	6	33.33%	3	16.67%	2	11.11%
PHYSICAL EDUCATION	86	46.24%	186	0	0%	0	0%	4	2.15%	10	5.38%	29	15.59%	43	23.12%	101	54.30%
PHYSICS	3	30.00%	10	0	0%	0	0%	0	0%	1	10.00%	2	20.00%	0	0%	7	70.00%
PORTUGUESE	1	100.00%	1	0	0%	0	0%	0	0%	1	100.00%	0	0%	0	0%	0	0%
PORTUGUESE-LANG	47	100.00%	47	18	38.30%	0	0%	13	27.66%	12	25.53%	3	6.38%	1	2.13%	0	0%
PSYCHOLOGY - A Level	83	100.00%	83	6	7.23%	0	0%	8	9.64%	18	21.69%	28	33.73%	23	27.71%	0	0%
PSYCHOLOGY - AS Level	659	47.82%	1378	49	3.56%	0	0%	80	5.81%	121	8.78%	191	13.86%	218	15.82%	719	52.18%
SOCIOLOGY - AS Level	250	49.12%	509	51	10.02%	0	0%	36	7.07%	49	9.63%	56	11.00%	58	11.39%	260	51.08%
SOCIOLOGY A Lvl	138	100.00%	138	8	5.80%	2	1.45%	10	7.25%	36	26.09%	36	26.09%	46	33.33%	0	0%
SPANISH	869	96.77%	898	426	47.44%	0	0%	192	21.38%	121	13.47%	76	8.46%	54	6.01%	29	3.23%
SPANISH LITERATURE	71	73.20%	97	10	10.31%	0	0%	18	18.56%	20	20.62%	11	11.34%	12	12.37%	26	26.80%
SPANISH- A LEVEL	105	100.00%	105	22	20.95%	1	0.95%	27	25.71%	29	27.62%	22	20.95%	4	3.81%	0	0%
THINKING SKILLS - A Level	104	100.00%	104	1	0.96%	5	4.81%	11	10.58%	28	26.92%	30	28.85%	29	27.88%	0	0%
THINKING SKILLS - AS Level	671	71.76%	935	39	4.17%	0	0%	76	8.13%	145	15.51%	175	18.72%	236	25.24%	264	28.24%
TRAVEL & TOURISM 1	812	68.99%	1177	48	4.08%	0	0%	127	10.79%	224	19.03%	205	17.42%	208	17.67%	365	31.01%
TRAVEL & TOURISM 2	188	100.00%	188	2	1.06%	0	0%	16	8.51%	38	20.21%	66	35.11%	66	35.11%	0	0%

0081Jupite	r High									Т	est Scores	s					
				#	A %	#	AA %	#	B %	#	C 8	#	D %	#	E %	#	U %
				#	76	#	76	#	76	#	76	#	76	#	76	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
BUSINESS STUDIES- AS LVL	3	9.09%	33	0	0%	0	0%	0	0%	0	0%	0	0%	3	9.09%	30	90.91%
CLASSICAL STUDIES	48	60.00%	80	0	0%	0	0%	2	2.50%	9	11.25%	22	27.50%	15	18.75%	32	40.00%
COMP SCI-AS LEVEL	19	95.00%	20	2	10.00%	0	0%	2	10.00%	1	5.00%	8	40.00%	6	30.00%	1	5.00%
DIGIT MEDIA DESIGN A Lvi	8	100.00%	8	1	12.50%	0	0%	0	0%	2	25.00%	4	50.00%	1	12.50%	0	0%
DIGIT MEDIA DESIGN AS LVI	151	85.31%	177	0	0%	0	0%	6	3.39%	12	6.78%	56	31.64%	77	43.50%	26	14.69%
ENGLISH GENERAL PAPER	417	87.97%	474	40	8.44%	0	0%	74	15.61%	107	22.57%	126	26.58%	70	14.77%	57	12.03%
ENGLISH LANGUAGE - AS LEVEL	348	89.23%	390	38	9.74%	0	0%	63	16.15%	76	19.49%	93	23.85%	78	20.00%	44	11.28%
ENVIROMENTAL MANAGEMENT	117	88.64%	132	14	10.61%	0	0%	25	18.94%	27	20.45%	31	23.48%	20	15.15%	15	11.36%
FRENCH- AS LVL	4	100.00%	4	2	50.00%	0	0%	1	25.00%	1	25.00%	0	0%	0	0%	0	0%
GEOGRAPHY	1	100.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%	0	0%
GLOBAL PERSPEC & RESEAR 1	283	97.92%	289	43	14.88%	0	0%	71	24.57%	98	33.91%	50	17.30%	21	7.27%	6	2.08%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	62	100.00%	62	9	14.52%	1	1.61%	29	46.77%	15	24.19%	7	11.29%	1	1.61%	0	0%
HISTORY- AS Level	360	76.43%	471	27	5.73%	0	0%	59	12.53%	80	16.99%	98	20.81%	96	20.38%	114	24.20%
INFORMATION TECHNOLOGY	19	61.29%	31	1	3.23%	0	0%	4	12.90%	2	6.45%	3	9.68%	9	29.03%	12	38.71%
LITERATURE	188	63.51%	296	5	1.69%	0	0%	16	5.41%	42	14.19%	60	20.27%	65	21.96%	108	36.49%
MARINE SCIENCE- A LVL	26	100.00%	26	3	11.54%	0	0%	10	38.46%	7	26.92%	3	11.54%	3	11.54%	0	0%
MARINE SCIENCE- AS LVL	136	83.95%	162	16	9.88%	0	0%	19	11.73%	42	25.93%	38	23.46%	21	12.96%	26	16.05%
MATHEMATICS	35	72.92%	48	1	2.08%	0	0%	4	8.33%	8	16.67%	8	16.67%	14	29.17%	13	27.08%
MEDIA STUDIES-A LVL	4	100.00%	4	0	0%	0	0%	0	0%	2	50.00%	2	50.00%	0	0%	0	0%
MEDIA STUDIES-AS LVL	55	84.62%	65	3	4.62%	0	0%	8	12.31%	20	30.77%	15	23.08%	9	13.85%	10	15.38%
PHYSICAL EDUCATION	45	49.45%	91	0	0%	0	0%	1	1.10%	4	4.40%	17	18.68%	23	25.27%	46	50.55%
PSYCHOLOGY - AS Level	51	56.67%	90	4	4.44%	0	0%	3	3.33%	7	7.78%	20	22.22%	17	18.89%	39	43.33%
SPANISH	27	87.10%	31	7	22.58%	0	0%	5	16.13%	6	19.35%	7	22.58%	2	6.45%	4	12.90%
THINKING SKILLS - AS Level	1	100.00%	1	0	0%	0	0%	1	100.00%	0	0%	0	0%	0	0%	0	0%
TRAVEL & TOURISM 1	148	93.08%	159	12	7.55%	0	0%	38	23.90%	51	32.08%	30	18.87%	17	10.69%	11	6.92%

0151-5	Suncoast High								Test S	cores					
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA- E	Total Students per Subtest												
ENGLISH GENERAL PAPER	394	90.99%	433	47	10.85%	72	16.63%	110	25.40%	104	24.02%	61	14.09%	39	9.01%
LITERATURE	115	62.50%	184	4	2.17%	9	4.89%	26	14.13%	35	19.02%	41	22.28%	69	37.50%

0395A. W. I	Dreyfoos School Of Arts								Test S	core	s				
	,				Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ART and DESIGN AS LVL	6	40.00%	15	0	0%	0	0%	0	0%	0	0%	6	40.00%	9	60.00%
DRAMA AS LVL	12	100.00%	12	5	41.67%	1	8.33%	3	25.00%	3	25.00%	0	0%	0	0%
ENGLISH GENERAL PAPER	246	97.62%	252	60	23.81%	60	23.81%	62	24.60%	48	19.05%	16	6.35%	6	2.38%
ENGLISH LANGUAGE - AS LEVEL	258	95.91%	269	58	21.56%	66	24.54%	74	27.51%	43	15.99%	17	6.32%	11	4.09%
GLOBAL PERSPEC & RESEAR 1	13	100.00%	13	11	84.62%	2	15.38%	0	0%	0	0%	0	0%	0	0%
MEDIA STUDIES-AS LVL	11	91.67%	12	2	16.67%	2	16.67%	5	41.67%	1	8.33%	1	8.33%	1	8.33%

0581Fore	est Hill High								Test	Scor	es				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BUSINESS STUDIES- AS LVL	3	14.29%	21	0	0%	0	0%	0	0%	0	0%	3	14.29%	18	85.71%
COMP SCI-AS LEVEL	3	37.50%	8	0	0%	0	0%	0	0%	1	12.50%	2	25.00%	5	62.50%
DIGIT MEDIA DESIGN AS LVI	10	31.25%	32	0	0%	0	0%	0	0%	2	6.25%	8	25.00%	22	68.75%
ENGLISH GENERAL PAPER	259	60.66%	427	6	1.41%	17	3.98%	41	9.60%	96	22.48%	100	23.42%	168	39.34%
ENGLISH LANGUAGE - AS LEVEL	129	44.18%	292	4	1.37%	8	2.74%	21	7.19%	41	14.04%	55	18.84%	164	56.16%
GLOBAL PERSPEC & RESEAR 1	62	87.32%	71	2	2.82%	10	14.08%	18	25.35%	19	26.76%	13	18.31%	9	12.68%
HISTORY- AS Level	70	42.94%	163	2	1.23%	7	4.29%	11	6.75%	23	14.11%	28	17.18%	94	57.67%
LITERATURE	9	25.00%	36	0	0%	1	2.78%	2	5.56%	3	8.33%	3	8.33%	27	75.00%
MARINE SCIENCE- AS LVL	57	46.34%	123	0	0%	8	6.50%	17	13.82%	18	14.63%	14	11.38%	66	53.66%
PSYCHOLOGY - AS Level	4	26.67%	15	0	0%	1	6.67%	0	0%	0	0%	3	20.00%	11	73.33%
SOCIOLOGY - AS Level	11	16.92%	65	0	0%	0	0%	0	0%	7	10.77%	4	6.15%	54	83.08%
SPANISH	169	98.26%	172	81	47.09%	36	20.93%	28	16.28%	14	8.14%	10	5.81%	3	1.74%
SPANISH LITERATURE	23	92.00%	25	7	28.00%	6	24.00%	5	20.00%	2	8.00%	3	12.00%	2	8.00%
THINKING SKILLS - AS Level	62	51.24%	121	2	1.65%	2	1.65%	11	9.09%	13	10.74%	34	28.10%	59	48.76%
TRAVEL & TOURISM 1	8	47.06%	17	0	0%	0	0%	1	5.88%	3	17.65%	4	23.53%	9	52.94%

0691—Lake Wo	orth High								Test	Score	es				
0051					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BUSINESS STUDIES- AS LVL	2	2.70%	74	0	0%	0	0%	0	0%	1	1.35%	1	1.35%	72	97.30%
ENGLISH GENERAL PAPER	145	47.85%	303	2	0.66%	5	1.65%	27	8.91%	47	15.51%	64	21.12%	158	52.15%
ENGLISH LANGUAGE - AS LEVEL	64	27.00%	237	0	0%	4	1.69%	3	1.27%	22	9.28%	35	14.77%	173	73.00%
ENVIROMENTAL MANAGEMENT	43	55.84%	77	3	3.90%	6	7.79%	11	14.29%	8	10.39%	15	19.48%	34	44.16%
FRENCH- AS LVL	2	66.67%	3	0	0%	1	33.33%	0	0%	1	33.33%	0	0%	1	33.33%
GLOBAL PERSPEC & RESEAR 1	26	60.47%	43	0	0%	0	0%	3	6.98%	14	32.56%	9	20.93%	17	39.53%
HISTORY- AS Level	56	18.60%	301	0	0%	2	0.66%	10	3.32%	13	4.32%	31	10.30%	245	81.40%
LITERATURE	15	15.15%	99	0	0%	3	3.03%	3	3.03%	2	2.02%	7	7.07%	84	84.85%
MARINE SCIENCE- AS LVL	23	46.94%	49	0	0%	0	0%	5	10.20%	6	12.24%	12	24.49%	26	53.06%
MATHEMATICS	1	1.67%	60	0	0%	0	0%	0	0%	0	0%	1	1.67%	59	98.33%
PHYSICAL EDUCATION	4	25.00%	16	0	0%	0	0%	0	0%	1	6.25%	3	18.75%	12	75.00%
SPANISH	53	94.64%	56	25	44.64%	12	21.43%	7	12.50%	5	8.93%	4	7.14%	3	5.36%
SPANISH LITERATURE	19	67.86%	28	0	0%	6	21.43%	5	17.86%	4	14.29%	4	14.29%	9	32.14%

0862Atl	antic High								Test	Scor	es				
	•				Α		В		С		D		Е		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
CHEMISTRY	20	43.48%	46	1	2.17%	0	0%	0	0%	4	8.70%	15	32.61%	26	56.52%
DRAMA AS LVL	7	77.78%	9	0	0%	0	0%	1	11.11%	4	44.44%	2	22.22%	2	22.22%
ENGLISH GENERAL PAPER	186	59.62%	312	24	7.69%	18	5.77%	30	9.62%	50	16.03%	64	20.51%	126	40.38%
ENGLISH LANGUAGE - AS LEVEL	67	30.59%	219	0	0%	4	1.83%	9	4.11%	18	8.22%	36	16.44%	152	69.41%
GEOGRAPHY	4	21.05%	19	0	0%	0	0%	1	5.26%	2	10.53%	1	5.26%	15	78.95%
GLOBAL PERSPEC & RESEAR 1	16	94.12%	17	1	5.88%	4	23.53%	6	35.29%	3	17.65%	2	11.76%	1	5.88%
HISTORY- AS Level	23	21.10%	109	0	0%	1	0.92%	1	0.92%	4	3.67%	17	15.60%	86	78.90%
LITERATURE	26	47.27%	55	0	0%	2	3.64%	7	12.73%	5	9.09%	12	21.82%	29	52.73%
MARINE SCIENCE- AS LVL	15	65.22%	23	0	0%	1	4.35%	5	21.74%	6	26.09%	3	13.04%	8	34.78%
SOCIOLOGY - AS Level	5	25.00%	20	0	0%	0	0%	0	0%	3	15.00%	2	10.00%	15	75.00%
TRAVEL & TOURISM 1	2	10.53%	19	0	0%	0	0%	0	0%	1	5.26%	1	5.26%	17	89.47%

0961Boca Raton High									Tes	t Scor	es				
					A	,,	В	"	C	,,	D	,,	E	"	U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ART and DESIGN AS LVL	0	0.00%	50	0	0%	0	0%	0	0%	0	0%	0	0%	50	100.00%
BIOLOGY	81	79.41%	102	2	1.96%	9	8.82%	21	20.59%	26	25.49%	23	22.55%	21	20.59%
BIOLOGY 2	12	100.00%	12	0	0%	1	8.33%	1	8.33%	4	33.33%	6	50.00%	0	0%
BUSINESS	17	100.00%	17	0	0%	0	0%	3	17.65%	8	47.06%	6	35.29%	0	0%
BUSINESS STUDIES- AS LVL	50	29.41%	170	0	0%	2	1.18%	8	4.71%	14	8.24%	26	15.29%	120	70.59%
CHEMISTRY	29	96.67%	30	1	3.33%	5	16.67%	6	20.00%	8	26.67%	9	30.00%	1	3.33%
DIGIT MEDIA DESIGN AS Lvl	37	84.09%	44	0	0%	0	0%	7	15.91%	17	38.64%	13	29.55%	7	15.91%
DRAMA A LVL	1	100.00%	1	0	0%	0	0%	0	0%	1	100.00%	0	0%	0	0%
DRAMA AS LVL	20	74.07%	27	0	0%	0	0%	4	14.81%	7	25.93%	9	33.33%	7	25.93%
ENGLISH GENERAL PAPER	510	79.69%	640	54	8.44%	78	12.19%	130	20.31%	119	18.59%	129	20.16%	130	20.31%
ENGLISH LANGUAGE - AS LEVEL	339	77.93%	435	27	6.21%	70	16.09%	79	18.16%	90	20.69%	73	16.78%	98	22.53%
ENVIROMENTAL MANAGEMENT	30	63.83%	47	2	4.26%	5	10.64%	10	21.28%	6	12.77%	7	14.89%	17	36.17%
FRENCH- AS LVL	5	100.00%	5	3	60.00%	0	0%	1	20.00%	0	0%	1	20.00%	0	0%
GLOBAL PERSPEC & RESEAR 1	409	83.47%	490	7	1.43%	51	10.41%	119	24.29%	128	26.12%	104	21.22%	81	16.53%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	224	100.00%	224	35	15.62%	89	39.73%	55	24.55%	33	14.73%	12	5.36%	0	0%
HISTORY- AS Level	375	56.82%	660	16	2.42%	43	6.52%	78	11.82%	119	18.03%	120	18.18%	286	43.33%
LITERATURE	46	34.59%	133	0	0%	1	0.75%	9	6.77%	22	16.54%	14	10.53%	87	65.41%
MARINE SCIENCE- AS LVL	300	65.79%	456	32	7.02%	59	12.94%	55	12.06%	73	16.01%	81	17.76%	156	34.21%
MATHEMATICS	52	65.82%	79	2	2.53%	2	2.53%	14	17.72%	14	17.72%	20	25.32%	27	34.18%
MEDIA STUDIES-AS LVL	184	90.64%	203	0	0%	5	2.46%	50	24.63%	71	34.98%	58	28.57%	19	9.36%
PHYSICAL EDUCATION	10	66.67%	15	0	0%	1	6.67%	1	6.67%	3	20.00%	5	33.33%	5	33.33%
PORTUGUESE-LANG	24	100.00%	24	9	37.50%	6	25.00%	7	29.17%	1	4.17%	1	4.17%	0	0%
PSYCHOLOGY - AS Level	177	51.16%	346	9	2.60%	19	5.49%	28	8.09%	58	16.76%	63	18.21%	169	48.84%
SOCIOLOGY - AS Level	9	30.00%	30	0	0%	0	0%	2	6.67%	3	10.00%	4	13.33%	21	70.00%
SOCIOLOGY A Lvl	31	100.00%	31	0	0%	1	3.23%	5	16.13%	11	35.48%	14	45.16%	0	0%
SPANISH	60	100.00%	60	39	65.00%	16	26.67%	5	8.33%	0	0%	0	0%	0	0%

0961Boca Raton High									Tes	t Score	es				
oser seer rater right					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
THINKING SKILLS - AS Level	74	65.49%	113	4	3.54%	13	11.50%	13	11.50%	20	17.70%	24	21.24%	39	34.51%
TRAVEL & TOURISM 1	184	69.96%	263	8	3.04%	24	9.13%	51	19.39%	45	17.11%	56	21.29%	79	30.04%

1361–John I. Leonard High										1	est Score	s					
					A		AA		В		C		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ART and DESIGN -A LVL	2	100.00%	2	0	0%	0	0%	0	0%	0	0%	0	0%	2	100.00%	0	0%
ART and DESIGN AS LVL	3	18.75%	16	0	0%	0	0%	0	0%	0	0%	1	6.25%	2	12.50%	13	81.25%
BUSINESS STUDIES- AS LVL	2	11.76%	17	0	0%	0	0%	0	0%	2	11.76%	0	0%	0	0%	15	88.24%
COMP SCI-A LEVEL	1	100.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%	0	0%
COMP SCI-AS LEVEL	5	62.50%	8	0	0%	0	0%	0	0%	2	25.00%	1	12.50%	2	25.00%	4	50.00%
ENGLISH GENERAL PAPER	322	58.76%	548	7	1.28%	0	0%	28	5.11%	57	10.40%	96	17.52%	134	24.45%	226	41.24%
ENGLISH LANGUAGE - A LEVEL	1	100.00%	1	0	0%	0	0%	1	100.00%	0	0%	0	0%	0	0%	0	0%
ENGLISH LANGUAGE - AS LEVEL	226	71.07%	318	3	0.94%	0	0%	26	8.18%	50	15.72%	67	21.07%	80	25.16%	92	28.93%
ENVIROMENTAL MANAGEMENT	32	76.19%	42	1	2.38%	0	0%	5	11.90%	8	19.05%	11	26.19%	7	16.67%	10	23.81%
FRENCH- AS LVL	9	100.00%	9	2	22.22%	0	0%	2	22.22%	2	22.22%	2	22.22%	1	11.11%	0	0%
GLOBAL PERSPEC & RESEAR 1	85	77.98%	109	0	0%	0	0%	8	7.34%	26	23.85%	26	23.85%	25	22.94%	24	22.02%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	6	100.00%	6	0	0%	0	0%	2	33.33%	3	50.00%	1	16.67%	0	0%	0	0%
HISTORY- AS Level	261	46.77%	558	8	1.43%	0	0%	43	7.71%	48	8.60%	80	14.34%	84	15.05%	303	54.30%
LITERATURE	172	73.82%	233	2	0.86%	0	0%	7	3.00%	32	13.73%	43	18.45%	88	37.77%	62	26.61%
MARINE SCIENCE- AS LVL	73	73.00%	100	3	3.00%	0	0%	12	12.00%	16	16.00%	23	23.00%	19	19.00%	27	27.00%
MATHEMATICS	16	28.57%	56	0	0%	0	0%	0	0%	1	1.79%	1	1.79%	14	25.00%	40	71.43%
MEDIA STUDIES-AS LVL	17	94.44%	18	0	0%	0	0%	2	11.11%	5	27.78%	7	38.89%	3	16.67%	1	5.56%
PHYSICAL EDUCATION	0	0.00%	14	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%	14	100.00%
PSYCHOLOGY - AS Level	37	36.63%	101	3	2.97%	0	0%	5	4.95%	2	1.98%	11	10.89%	16	15.84%	64	63.37%
SPANISH	238	100.00%	238	154	64.71%	0	0%	50	21.01%	18	7.56%	11	4.62%	5	2.10%	0	0%
SPANISH- A LEVEL	104	100.00%	104	21	20.19%	1	0.96%	27	25.96%	29	27.88%	22	21.15%	4	3.85%	0	0%
THINKING SKILLS - AS Level	25	55.56%	45	0	0%	0	0%	0	0%	3	6.67%	6	13.33%	16	35.56%	20	44.44%
TRAVEL & TOURISM 1	27	29.67%	91	0	0%	0	0%	1	1.10%	2	2.20%	8	8.79%	16	17.58%	64	70.33%
TRAVEL & TOURISM 2	42	100.00%	42	0	0%	0	0%	1	2.38%	6	14.29%	11	26.19%	24	57.14%	0	0%

1371—Palm Be	ach Gardens High								Test S	core	s				
	•				Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BUSINESS STUDIES- AS LVL	4	26.67%	15	0	0%	0	0%	0	0%	1	6.67%	3	20.00%	11	73.33%
ENGLISH GENERAL PAPER	139	85.80%	162	6	3.70%	21	12.96%	31	19.14%	51	31.48%	30	18.52%	23	14.20%
ENGLISH LANGUAGE - AS LEVEL	96	70.59%	136	0	0%	10	7.35%	11	8.09%	37	27.21%	38	27.94%	40	29.41%
ENVIROMENTAL MANAGEMENT	9	81.82%	11	0	0%	4	36.36%	4	36.36%	1	9.09%	0	0%	2	18.18%
GLOBAL PERSPEC & RESEAR 1	54	98.18%	55	15	27.27%	14	25.45%	15	27.27%	8	14.55%	2	3.64%	1	1.82%
HISTORY- AS Level	36	30.25%	119	0	0%	2	1.68%	4	3.36%	12	10.08%	19	15.97%	83	69.75%
LITERATURE	45	69.23%	65	0	0%	2	3.08%	12	18.46%	13	20.00%	18	27.69%	20	30.77%
MARINE SCIENCE- AS LVL	54	71.05%	76	2	2.63%	8	10.53%	13	17.11%	14	18.42%	17	22.37%	22	28.95%
PSYCHOLOGY - AS Level	26	45.61%	57	0	0%	1	1.75%	4	7.02%	7	12.28%	14	24.56%	31	54.39%
THINKING SKILLS - AS Level	101	77.10%	131	3	2.29%	8	6.11%	17	12.98%	30	22.90%	43	32.82%	30	22.90%
TRAVEL & TOURISM 1	3	42.86%	7	0	0%	1	14.29%	0	0%	2	28.57%	0	0%	4	57.14%

1611—Santal	uces High									t Scor	es				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
DIGIT MEDIA DESIGN AS Lvl	10	83.33%	12	0	0%	0	0%	1	8.33%	1	8.33%	8	66.67%	2	16.67%
ENGLISH GENERAL PAPER	269	49.63%	542	5	0.92%	17	3.14%	38	7.01%	87	16.05%	122	22.51%	273	50.37%
ENGLISH LANGUAGE - AS LEVEL	142	30.47%	466	4	0.86%	10	2.15%	16	3.43%	37	7.94%	75	16.09%	324	69.53%
ENVIROMENTAL MANAGEMENT	19	70.37%	27	1	3.70%	3	11.11%	3	11.11%	6	22.22%	6	22.22%	8	29.63%
FRENCH- AS LVL	11	44.00%	25	5	20.00%	1	4.00%	4	16.00%	0	0%	1	4.00%	14	56.00%
GLOBAL PERSPEC & RESEAR 1	54	96.43%	56	4	7.14%	7	12.50%	21	37.50%	18	32.14%	4	7.14%	2	3.57%
HISTORY- AS Level	38	18.91%	201	0	0%	1	0.50%	7	3.48%	7	3.48%	23	11.44%	163	81.09%
LANGUAGE	37	100.00%	37	0	0%	1	2.70%	8	21.62%	16	43.24%	12	32.43%	0	0%
LITERATURE	81	56.25%	144	0	0%	6	4.17%	17	11.81%	29	20.14%	29	20.14%	64	44.44%
MARINE SCIENCE- AS LVL	31	47.69%	65	0	0%	3	4.62%	4	6.15%	9	13.85%	15	23.08%	34	52.31%
MEDIA STUDIES-AS LVL	9	19.57%	46	0	0%	0	0%	0	0%	2	4.35%	7	15.22%	37	80.43%
MUSIC	5	71.43%	7	0	0%	0	0%	1	14.29%	2	28.57%	2	28.57%	2	28.57%
PHYSICAL EDUCATION	12	60.00%	20	0	0%	0	0%	2	10.00%	4	20.00%	6	30.00%	8	40.00%
PSYCHOLOGY - AS Level	21	26.58%	79	0	0%	3	3.80%	1	1.27%	5	6.33%	12	15.19%	58	73.42%
SPANISH	28	90.32%	31	8	25.81%	9	29.03%	6	19.35%	3	9.68%	2	6.45%	3	9.68%
THINKING SKILLS - A Level	40	100.00%	40	0	0%	0	0%	9	22.50%	14	35.00%	17	42.50%	0	0%
THINKING SKILLS - AS Level	22	59.46%	37	0	0%	0	0%	1	2.70%	6	16.22%	15	40.54%	15	40.54%

1681—Spanish River H	High									T	est Scores						
	•				Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
BIOLOGY	14	63.64%	22	1	4.55%	0	0%	0	0%	5	22.73%	3	13.64%	5	22.73%	8	36.36%
BUSINESS	46	100.00%	46	2	4.35%	0	0%	1	2.17%	18	39.13%	17	36.96%	8	17.39%	0	0%
BUSINESS STUDIES- AS LVL	92	56.10%	164	2	1.22%	0	0%	7	4.27%	27	16.46%	26	15.85%	30	18.29%	72	43.90%
ENGLISH GENERAL PAPER	364	89.43%	407	32	7.86%	0	0%	49	12.04%	90	22.11%	113	27.76%	80	19.66%	43	10.57%
ENGLISH LANGUAGE - AS LEVEL	270	81.57%	331	6	1.81%	0	0%	24	7.25%	69	20.85%	106	32.02%	65	19.64%	61	18.43%
ENVIROMENTAL MANAGEMENT	33	82.50%	40	4	10.00%	0	0%	9	22.50%	11	27.50%	5	12.50%	4	10.00%	7	17.50%
GLOBAL PERSPEC & RESEAR 1	274	95.47%	287	37	12.89%	0	0%	74	25.78%	99	34.49%	50	17.42%	14	4.88%	13	4.53%
HISTORY- AS Level	165	73.33%	225	4	1.78%	0	0%	26	11.56%	33	14.67%	67	29.78%	35	15.56%	60	26.67%
LITERATURE	115	44.92%	256	0	0%	0	0%	5	1.95%	14	5.47%	35	13.67%	61	23.83%	141	55.08%
MARINE SCIENCE- A LVL	160	100.00%	160	6	3.75%	2	1.25%	16	10.00%	33	20.62%	50	31.25%	53	33.12%	0	0%
MARINE SCIENCE- AS LVL	18	25.71%	70	0	0%	0	0%	1	1.43%	0	0%	2	2.86%	15	21.43%	52	74.29%
MATHEMATICS	57	50.44%	113	4	3.54%	0	0%	2	1.77%	12	10.62%	13	11.50%	26	23.01%	56	49.56%
MEDIA STUDIES-A LVL	6	100.00%	6	0	0%	0	0%	0	0%	0	0%	4	66.67%	2	33.33%	0	0%
MEDIA STUDIES-AS LVL	57	76.00%	75	1	1.33%	0	0%	0	0%	7	9.33%	24	32.00%	25	33.33%	18	24.00%
PORTUGUESE	1	100.00%	1	0	0%	0	0%	0	0%	1	100.00%	0	0%	0	0%	0	0%
SOCIOLOGY - AS Level	3	60.00%	5	0	0%	0	0%	0	0%	1	20.00%	0	0%	2	40.00%	2	40.00%
SOCIOLOGY A Lvl	38	100.00%	38	5	13.16%	1	2.63%	6	15.79%	13	34.21%	8	21.05%	5	13.16%	0	0%
THINKING SKILLS - A Level	31	100.00%	31	1	3.23%	4	12.90%	7	22.58%	14	45.16%	3	9.68%	2	6.45%	0	0%
THINKING SKILLS - AS Level	5	83.33%	6	0	0%	0	0%	1	16.67%	2	33.33%	2	33.33%	0	0%	1	16.67%
TRAVEL & TOURISM 1	16	38.10%	42	1	2.38%	0	0%	1	2.38%	0	0%	4	9.52%	10	23.81%	26	61.90%
TRAVEL & TOURISM 2	101	100.00%	101	0	0%	0	0%	12	11.88%	18	17.82%	41	40.59%	30	29.70%	0	0%

1771—Pa	hokee Middle -Senior High								Test Score	es			
					Α		С		D		Е		U
				#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest										
BIOLOGY	2	12.50%	16	0	0%	0	0%	0	0%	2	12.50%	14	87.50%
CHEMISTRY	0	0.00%	11	0	0%	0	0%	0	0%	0	0%	11	100.00%
ENGLISH GENERAL PAPER	18	66.67%	27	1	3.70%	1	3.70%	8	29.63%	8	29.63%	9	33.33%
ENGLISH LANGUAGE - AS LEVEL	12	42.86%	28	0	0%	0	0%	4	14.29%	8	28.57%	16	57.14%
MARINE SCIENCE- AS LVL	0	0.00%	6	0	0%	0	0%	0	0%	0	0%	6	100.00%

1851Palm I	Beach Lakes High								Tes	t Scor	res				
1001 14	Deadir Lakes Filgi.				Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ENGLISH GENERAL PAPER	207	86.97%	238	11	4.62%	23	9.66%	48	20.17%	72	30.25%	53	22.27%	31	13.03%
ENGLISH LANGUAGE - AS LEVEL	4	23.53%	17	0	0%	0	0%	1	5.88%	1	5.88%	2	11.76%	13	76.47%
GLOBAL PERSPEC & RESEAR 1	5	100.00%	5	0	0%	1	20.00%	0	0%	2	40.00%	2	40.00%	0	0%
HISTORY- AS Level	53	30.81%	172	1	0.58%	2	1.16%	9	5.23%	21	12.21%	20	11.63%	119	69.19%
LITERATURE	3	25.00%	12	0	0%	0	0%	0	0%	0	0%	3	25.00%	9	75.00%
MARINE SCIENCE- AS LVL	15	28.85%	52	0	0%	0	0%	0	0%	3	5.77%	12	23.08%	37	71.15%
MEDIA STUDIES-AS LVL	4	36.36%	11	0	0%	0	0%	0	0%	0	0%	4	36.36%	7	63.64%
PHYSICAL EDUCATION	0	0.00%	10	0	0%	0	0%	0	0%	0	0%	0	0%	10	100.00%
PSYCHOLOGY - AS Level	5	10.87%	46	0	0%	0	0%	0	0%	2	4.35%	3	6.52%	41	89.13%
SOCIOLOGY - AS Level	2	5.41%	37	0	0%	0	0%	1	2.70%	0	0%	1	2.70%	35	94.59%
TRAVEL & TOURISM 1	6	37.50%	16	0	0%	0	0%	1	6.25%	1	6.25%	4	25.00%	10	62.50%

2001—Park Vista Comm	nunity High									Т	est Scores						
	, ,				Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
CHEMISTRY	23	76.67%	30	0	0%	0	0%	1	3.33%	0	0%	5	16.67%	17	56.67%	7	23.33%
DRAMA AS LVL	20	95.24%	21	6	28.57%	0	0%	4	19.05%	6	28.57%	1	4.76%	3	14.29%	1	4.76%
ENGLISH GENERAL PAPER	447	78.15%	572	59	10.31%	0	0%	81	14.16%	100	17.48%	120	20.98%	87	15.21%	125	21.85%
ENGLISH LANGUAGE - AS LEVEL	247	80.19%	308	16	5.19%	0	0%	40	12.99%	67	21.75%	69	22.40%	55	17.86%	62	20.13%
ENVIROMENTAL MANAGEMENT	160	94.67%	169	36	21.30%	0	0%	44	26.04%	47	27.81%	24	14.20%	9	5.33%	9	5.33%
FRENCH- AS LVL	4	36.36%	11	0	0%	0	0%	0	0%	2	18.18%	1	9.09%	1	9.09%	7	63.64%
GLOBAL PERSPEC & RESEAR 1	145	100.00%	145	78	53.79%	0	0%	42	28.97%	17	11.72%	7	4.83%	1	0.69%	0	0%
HISTORY- AS Level	256	80.00%	320	2	0.62%	0	0%	29	9.06%	84	26.25%	74	23.12%	68	21.25%	64	20.00%
LITERATURE	212	89.45%	237	19	8.02%	0	0%	35	14.77%	62	26.16%	58	24.47%	38	16.03%	25	10.55%
MARINE SCIENCE- A LVL	103	100.00%	103	14	13.59%	1	0.97%	19	18.45%	29	28.16%	30	29.13%	10	9.71%	0	0%
MARINE SCIENCE- AS LVL	64	82.05%	78	3	3.85%	0	0%	9	11.54%	16	20.51%	19	24.36%	17	21.79%	14	17.95%
MEDIA STUDIES-AS LVL	51	86.44%	59	1	1.69%	0	0%	5	8.47%	10	16.95%	22	37.29%	13	22.03%	8	13.56%
SOCIOLOGY - AS Level	122	90.37%	135	43	31.85%	0	0%	26	19.26%	22	16.30%	23	17.04%	8	5.93%	13	9.63%
SPANISH	24	96.00%	25	9	36.00%	0	0%	4	16.00%	3	12.00%	6	24.00%	2	8.00%	1	4.00%
THINKING SKILLS - AS Level	65	94.20%	69	8	11.59%	0	0%	12	17.39%	21	30.43%	15	21.74%	9	13.04%	4	5.80%
TRAVEL & TOURISM 1	68	83.95%	81	6	7.41%	0	0%	14	17.28%	22	27.16%	14	17.28%	12	14.81%	13	16.05%

2181Olympic Heig	hts High										Test Score	es					
					Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ART and DESIGN AS LVL	9	90.00%	10	0	0%	0	0%	0	0%	0	0%	5	50.00%	4	40.00%	1	10.00%
BUSINESS STUDIES- AS LVL	41	47.67%	86	0	0%	0	0%	2	2.33%	11	12.79%	13	15.12%	15	17.44%	45	52.33%
ENGLISH GENERAL PAPER	430	75.31%	571	28	4.90%	0	0%	58	10.16%	108	18.91%	116	20.32%	120	21.02%	141	24.69%
ENGLISH LANGUAGE - AS LEVEL	238	75.08%	317	7	2.21%	0	0%	33	10.41%	48	15.14%	67	21.14%	83	26.18%	79	24.92%
FRENCH- AS LVL	9	64.29%	14	2	14.29%	0	0%	4	28.57%	0	0%	2	14.29%	1	7.14%	5	35.71%
GLOBAL PERSPEC & RESEAR 1	152	91.57%	166	5	3.01%	0	0%	13	7.83%	53	31.93%	58	34.94%	23	13.86%	14	8.43%
HISTORY- AS Level	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
INFORMATION TECHNOLOGY	34	41.98%	81	4	4.94%	0	0%	3	3.70%	5	6.17%	7	8.64%	15	18.52%	47	58.02%
LITERATURE	154	69.68%	221	0	0%	0	0%	8	3.62%	35	15.84%	47	21.27%	64	28.96%	67	30.32%
MARINE SCIENCE- A LVL	154	100.00%	154	4	2.60%	3	1.95%	13	8.44%	46	29.87%	48	31.17%	40	25.97%	0	0%
MARINE SCIENCE- AS LVL	10	17.54%	57	0	0%	0	0%	1	1.75%	1	1.75%	2	3.51%	6	10.53%	47	82.46%
MATHEMATICS	18	81.82%	22	1	4.55%	0	0%	1	4.55%	6	27.27%	5	22.73%	5	22.73%	4	18.18%
MEDIA STUDIES-AS LVL	33	75.00%	44	0	0%	0	0%	0	0%	8	18.18%	12	27.27%	13	29.55%	11	25.00%
MUSIC	11	100.00%	11	0	0%	0	0%	2	18.18%	4	36.36%	4	36.36%	1	9.09%	0	0%
PSYCHOLOGY - A Level	50	100.00%	50	6	12.00%	0	0%	5	10.00%	12	24.00%	16	32.00%	11	22.00%	0	0%
PSYCHOLOGY - AS Level	97	83.62%	116	11	9.48%	0	0%	14	12.07%	29	25.00%	24	20.69%	19	16.38%	19	16.38%
SOCIOLOGY - AS Level	18	45.00%	40	1	2.50%	0	0%	0	0%	7	17.50%	5	12.50%	5	12.50%	22	55.00%
SPANISH	53	94.64%	56	20	35.71%	0	0%	8	14.29%	8	14.29%	10	17.86%	7	12.50%	3	5.36%
THINKING SKILLS - AS Level	44	88.00%	50	0	0%	0	0%	12	24.00%	12	24.00%	12	24.00%	8	16.00%	6	12.00%
TRAVEL & TOURISM 1	79	74.53%	106	2	1.89%	0	0%	9	8.49%	21	19.81%	29	27.36%	18	16.98%	27	25.47%

2191Wellington High											Test Score	s					
				"	A		AA	"	В	"	C	,,	D		E	"	U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
BIOLOGY	13	39.39%	33	0	0%	0	0%	1	3.03%	3	9.09%	2	6.06%	7	21.21%	20	60.61%
BUSINESS STUDIES- AS LVL	14	31.82%	44	0	0%	0	0%	2	4.55%	2	4.55%	6	13.64%	4	9.09%	30	68.18%
CLASSICAL STUDIES	25	49.02%	51	1	1.96%	0	0%	3	5.88%	4	7.84%	9	17.65%	8	15.69%	26	50.98%
CLASSICAL STUDIES-A LEVEL	25	100.00%	25	0	0%	1	4.00%	9	36.00%	6	24.00%	5	20.00%	4	16.00%	0	0%
DIGIT MEDIA DESIGN A LVI	1	100.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%	0	0%
DIGIT MEDIA DESIGN AS LVI	3	100.00%	3	0	0%	0	0%	0	0%	1	33.33%	2	66.67%	0	0%	0	0%
DRAMA A LVL	2	100.00%	2	0	0%	0	0%	1	50.00%	0	0%	1	50.00%	0	0%	0	0%
DRAMA AS LVL	3	100.00%	3	0	0%	0	0%	0	0%	3	100.00%	0	0%	0	0%	0	0%
ENGLISH GENERAL PAPER	499	68.26%	731	26	3.56%	0	0%	60	8.21%	120	16.42%	140	19.15%	154	21.07%	232	31.74%
ENGLISH LANGUAGE - AS LEVEL	290	76.72%	378	14	3.70%	0	0%	40	10.58%	76	20.11%	82	21.69%	78	20.63%	90	23.81%
ENVIROMENTAL MANAGEMENT	169	88.48%	191	18	9.42%	0	0%	31	16.23%	41	21.47%	52	27.23%	27	14.14%	22	11.52%
FRENCH- AS LVL	5	71.43%	7	0	0%	0	0%	0	0%	1	14.29%	1	14.29%	3	42.86%	2	28.57%
GLOBAL PERSPEC & RESEAR 1	217	96.88%	224	37	16.52%	0	0%	59	26.34%	72	32.14%	40	17.86%	9	4.02%	7	3.12%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	43	100.00%	43	7	16.28%	2	4.65%	15	34.88%	16	37.21%	3	6.98%	0	0%	0	0%
HISTORY- A Level	143	100.00%	143	3	2.10%	0	0%	13	9.09%	18	12.59%	44	30.77%	65	45.45%	0	0%
HISTORY- AS Level	164	56.75%	289	9	3.11%	0	0%	24	8.30%	42	14.53%	39	13.49%	50	17.30%	125	43.25%
LANGUAGE	166	100.00%	166	2	1.20%	0	0%	13	7.83%	44	26.51%	75	45.18%	32	19.28%	0	0%
LITERATURE	235	83.63%	281	11	3.91%	0	0%	21	7.47%	64	22.78%	76	27.05%	63	22.42%	46	16.37%
MARINE SCIENCE- AS LVL	66	73.33%	90	2	2.22%	0	0%	10	11.11%	17	18.89%	19	21.11%	18	20.00%	24	26.67%
MATHEMATICS	31	100.00%	31	13	41.94%	0	0%	5	16.13%	7	22.58%	3	9.68%	3	9.68%	0	0%
MEDIA STUDIES-AS LVL	36	78.26%	46	1	2.17%	0	0%	4	8.70%	5	10.87%	19	41.30%	7	15.22%	10	21.74%
PSYCHOLOGY - A Level	18	100.00%	18	0	0%	0	0%	2	11.11%	5	27.78%	8	44.44%	3	16.67%	0	0%
PSYCHOLOGY - AS Level	64	69.57%	92	7	7.61%	0	0%	12	13.04%	17	18.48%	15	16.30%	13	14.13%	28	30.43%
SOCIOLOGY - AS Level	25	34.72%	72	4	5.56%	0	0%	1	1.39%	5	6.94%	3	4.17%	12	16.67%	48	66.67%
SOCIOLOGY A Lvl	12	100.00%	12	0	0%	0	0%	0	0%	1	8.33%	3	25.00%	8	66.67%	0	0%
SPANISH	72	100.00%	72	28	38.89%	0	0%	18	25.00%	11	15.28%	6	8.33%	9	12.50%	0	0%

2191Wellington High											Test Score	S					
					Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
SPANISH LITERATURE	24	64.86%	37	3	8.11%	0	0%	6	16.22%	7	18.92%	3	8.11%	5	13.51%	13	35.14%
THINKING SKILLS - A Level	15	100.00%	15	0	0%	0	0%	2	13.33%	3	20.00%	5	33.33%	5	33.33%	0	0%
THINKING SKILLS - AS Level	4	57.14%	7	0	0%	0	0%	0	0%	0	0%	0	0%	4	57.14%	3	42.86%
TRAVEL & TOURISM 1	65	92.86%	70	4	5.71%	0	0%	15	21.43%	19	27.14%	14	20.00%	13	18.57%	5	7.14%

2201—William T	. Dwyer High								Test	t Score	es				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BUSINESS	5	100.00%	5	0	0%	1	20.00%	3	60.00%	0	0%	1	20.00%	0	0%
BUSINESS STUDIES- AS LVL	50	54.95%	91	3	3.30%	8	8.79%	14	15.38%	14	15.38%	11	12.09%	41	45.05%
DIGIT MEDIA DESIGN AS LVI	21	72.41%	29	0	0%	0	0%	0	0%	10	34.48%	11	37.93%	8	27.59%
ENGLISH GENERAL PAPER	344	58.50%	588	22	3.74%	39	6.63%	60	10.20%	116	19.73%	107	18.20%	244	41.50%
ENGLISH LANGUAGE - A LEVEL	74	100.00%	74	0	0%	1	1.35%	7	9.46%	27	36.49%	39	52.70%	0	0%
ENGLISH LANGUAGE - AS LEVEL	265	67.09%	395	5	1.27%	29	7.34%	68	17.22%	78	19.75%	85	21.52%	130	32.91%
ENVIROMENTAL MANAGEMENT	22	81.48%	27	0	0%	7	25.93%	6	22.22%	6	22.22%	3	11.11%	5	18.52%
GLOBAL PERSPEC & RESEAR 1	112	100.00%	112	41	36.61%	39	34.82%	27	24.11%	4	3.57%	1	0.89%	0	0%
HISTORY- AS Level	48	30.38%	158	0	0%	2	1.27%	8	5.06%	14	8.86%	24	15.19%	110	69.62%
LITERATURE	41	43.16%	95	1	1.05%	1	1.05%	7	7.37%	11	11.58%	21	22.11%	54	56.84%
MARINE SCIENCE- AS LVL	128	64.97%	197	3	1.52%	15	7.61%	27	13.71%	46	23.35%	37	18.78%	69	35.03%
MEDIA STUDIES-AS LVL	17	89.47%	19	1	5.26%	1	5.26%	4	21.05%	6	31.58%	5	26.32%	2	10.53%
PSYCHOLOGY - AS Level	33	38.37%	86	1	1.16%	1	1.16%	4	4.65%	16	18.60%	11	12.79%	53	61.63%
SOCIOLOGY - AS Level	30	66.67%	45	1	2.22%	6	13.33%	7	15.56%	8	17.78%	8	17.78%	15	33.33%
SPANISH	12	85.71%	14	4	28.57%	2	14.29%	2	14.29%	3	21.43%	1	7.14%	2	14.29%
THINKING SKILLS - AS Level	61	71.76%	85	6	7.06%	5	5.88%	18	21.18%	13	15.29%	19	22.35%	24	28.24%
TRAVEL & TOURISM 1	29	51.79%	56	1	1.79%	2	3.57%	4	7.14%	7	12.50%	15	26.79%	27	48.21%

2301Gla	ades Central High								Tes	t Scoi	es				
					Α		В		С		D		Е		U
				#	%	#	%	#	%	#	%	#	%	#	<u>%</u>
Subject Name	St Count AA- E	% AA- E	Total Students per Subtest												
ENGLISH GENERAL PAPER	64	63.37%	101	1	0.99%	3	2.97%	13	12.87%	22	21.78%	25	24.75%	37	36.63%
ENGLISH LANGUAGE - A LEVEL	10	100.00%	10	0	0%	0	0%	2	20.00%	5	50.00%	3	30.00%	0	0%
ENGLISH LANGUAGE - AS LEVEL	29	45.31%	64	0	0%	2	3.12%	6	9.38%	5	7.81%	16	25.00%	35	54.69%
GLOBAL PERSPEC & RESEAR 1	21	91.30%	23	0	0%	2	8.70%	5	21.74%	7	30.43%	7	30.43%	2	8.70%
HISTORY- AS Level	13	25.49%	51	0	0%	3	5.88%	2	3.92%	2	3.92%	6	11.76%	38	74.51%
LITERATURE	5	38.46%	13	0	0%	0	0%	1	7.69%	2	15.38%	2	15.38%	8	61.54%
MARINE SCIENCE- AS LVL	37	54.41%	68	0	0%	4	5.88%	2	2.94%	16	23.53%	15	22.06%	31	45.59%
PSYCHOLOGY - AS Level	4	23.53%	17	0	0%	0	0%	0	0%	3	17.65%	1	5.88%	13	76.47%
SPANISH	6	85.71%	7	0	0%	2	28.57%	3	42.86%	0	0%	1	14.29%	1	14.29%

2331—Royal Palm	Beach Community Hig								Tes	t Scor	es				
	, ,				Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
DESIGN & TECHNOLOGY	6	28.57%	21	0	0%	1	4.76%	0	0%	0	0%	5	23.81%	15	71.43%
ENGLISH GENERAL PAPER	465	58.86%	790	17	2.15%	30	3.80%	77	9.75%	141	17.85%	200	25.32%	325	41.14%
ENGLISH LANGUAGE - AS LEVEL	97	49.24%	197	3	1.52%	10	5.08%	19	9.64%	26	13.20%	39	19.80%	100	50.76%
ENVIROMENTAL MANAGEMENT	40	76.92%	52	3	5.77%	6	11.54%	5	9.62%	15	28.85%	11	21.15%	12	23.08%
GLOBAL PERSPEC & RESEAR 1	42	84.00%	50	0	0%	3	6.00%	12	24.00%	15	30.00%	12	24.00%	8	16.00%
HISTORY- AS Level	119	35.63%	334	5	1.50%	13	3.89%	30	8.98%	25	7.49%	46	13.77%	215	64.37%
LITERATURE	40	23.12%	173	0	0%	2	1.16%	6	3.47%	7	4.05%	25	14.45%	133	76.88%
MARINE SCIENCE- AS LVL	44	69.84%	63	3	4.76%	8	12.70%	10	15.87%	13	20.63%	10	15.87%	19	30.16%
MATHEMATICS	9	26.47%	34	1	2.94%	0	0%	0	0%	1	2.94%	7	20.59%	25	73.53%
MEDIA STUDIES-AS LVL	38	31.15%	122	0	0%	1	0.82%	8	6.56%	16	13.11%	13	10.66%	84	68.85%
PSYCHOLOGY - AS Level	36	52.17%	69	5	7.25%	6	8.70%	8	11.59%	6	8.70%	11	15.94%	33	47.83%
THINKING SKILLS - AS Level	14	58.33%	24	0	0%	2	8.33%	4	16.67%	3	12.50%	5	20.83%	10	41.67%

2361Boynto	on Beach Community High								Test	Sco	res				
]					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA- E	Total Students per Subtest												
ENGLISH GENERAL PAPER	7	87.50%	8	0	0%	0	0%	1	12.50%	4	50.00%	2	25.00%	1	12.50%
ENGLISH LANGUAGE - AS LEVEL	20	30.30%	66	0	0%	0	0%	4	6.06%	5	7.58%	11	16.67%	46	69.70%
GLOBAL PERSPEC & RESEAR 1	1	33.33%	3	0	0%	0	0%	0	0%	0	0%	1	33.33%	2	66.67%
HISTORY- AS Level	0	0.00%	2	0	0%	0	0%	0	0%	0	0%	0	0%	2	100.00%
LITERATURE	8	13.79%	58	0	0%	0	0%	1	1.72%	2	3.45%	5	8.62%	50	86.21%
MARINE SCIENCE- AS LVL	19	42.22%	45	0	0%	3	6.67%	5	11.11%	4	8.89%	7	15.56%	26	57.78%
MEDIA STUDIES-AS LVL	6	42.86%	14	0	0%	0	0%	0	0%	1	7.14%	5	35.71%	8	57.14%
PSYCHOLOGY - AS Level	1	10.00%	10	0	0%	0	0%	1	10.00%	0	0%	0	0%	9	90.00%
SPANISH	19	100.00%	19	11	57.89%	5	26.32%	2	10.53%	0	0%	1	5.26%	0	0%

2631Palm Beac	h Central High									t Score	es				
	•				A	"	В	"	C	"	D	"	E	,,	U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ART and DESIGN AS LVL	2	50.00%	4	0	0%	0	0%	0	0%	0	0%	2	50.00%	2	50.00%
BIOLOGY	18	45.00%	40	0	0%	1	2.50%	1	2.50%	8	20.00%	8	20.00%	22	55.00%
BIOLOGY 2	5	100.00%	5	0	0%	0	0%	0	0%	2	40.00%	3	60.00%	0	0%
BUSINESS STUDIES- AS LVL	21	23.86%	88	0	0%	2	2.27%	4	4.55%	5	5.68%	10	11.36%	67	76.14%
CHEMISTRY	20	76.92%	26	0	0%	1	3.85%	2	7.69%	8	30.77%	9	34.62%	6	23.08%
DRAMA AS LVL	3	100.00%	3	1	33.33%	0	0%	1	33.33%	1	33.33%	0	0%	0	0%
ECONOMICS - A LEVEL	2	100.00%	2	0	0%	0	0%	0	0%	2	100.00%	0	0%	0	0%
ECONOMICS - AS LEVEL	3	42.86%	7	0	0%	0	0%	0	0%	0	0%	3	42.86%	4	57.14%
ENGLISH GENERAL PAPER	443	82.65%	536	32	5.97%	67	12.50%	98	18.28%	135	25.19%	111	20.71%	93	17.35%
ENGLISH LANGUAGE - A LEVEL	144	100.00%	144	0	0%	5	3.47%	25	17.36%	60	41.67%	54	37.50%	0	0%
ENGLISH LANGUAGE - AS LEVEL	241	81.69%	295	14	4.75%	30	10.17%	61	20.68%	77	26.10%	59	20.00%	56	18.98%
ENVIROMENTAL MANAGEMENT	231	81.63%	283	16	5.65%	47	16.61%	64	22.61%	64	22.61%	40	14.13%	52	18.37%
FRENCH- AS LVL	2	28.57%	7	1	14.29%	1	14.29%	0	0%	0	0%	0	0%	5	71.43%
GLOBAL PERSPEC & RESEAR 1	225	98.25%	229	31	13.54%	53	23.14%	79	34.50%	40	17.47%	22	9.61%	4	1.75%
HISTORY- A Level	30	100.00%	30	1	3.33%	3	10.00%	10	33.33%	11	36.67%	5	16.67%	0	0%
HISTORY- AS Level	367	73.99%	496	14	2.82%	50	10.08%	93	18.75%	105	21.17%	105	21.17%	133	26.81%
LANGUAGE	12	100.00%	12	0	0%	0	0%	0	0%	7	58.33%	5	41.67%	0	0%
LITERATURE	90	74.38%	121	1	0.83%	6	4.96%	28	23.14%	27	22.31%	28	23.14%	31	25.62%
MARINE SCIENCE- A LVL	42	100.00%	42	1	2.38%	5	11.90%	13	30.95%	12	28.57%	11	26.19%	0	0%
MARINE SCIENCE- AS LVL	40	60.61%	66	1	1.52%	6	9.09%	8	12.12%	15	22.73%	10	15.15%	26	39.39%
MATHEMATICS	42	54.55%	77	2	2.60%	6	7.79%	11	14.29%	11	14.29%	12	15.58%	35	45.45%
MEDIA STUDIES-AS LVL	28	96.55%	29	0	0%	3	10.34%	15	51.72%	9	31.03%	1	3.45%	1	3.45%
PHYSICAL EDUCATION	15	75.00%	20	0	0%	2	10.00%	3	15.00%	4	20.00%	6	30.00%	6	30.00%
PHYSICS	3	30.00%	10	0	0%	0	0%	1	10.00%	2	20.00%	0	0%	7	70.00%
PSYCHOLOGY - A Level	15	100.00%	15	0	0%	1	6.67%	1	6.67%	4	26.67%	9	60.00%	0	0%
PSYCHOLOGY - AS Level	31	19.37%	160	0	0%	2	1.25%	2	1.25%	10	6.25%	17	10.62%	129	80.62%

2631Palm Beac	h Central High			Test Scores														
				Α		В			С		D		E	U				
				#	%	#	%	#	%	#	%	#	%	#	%			
SOCIOLOGY - AS Level	20	46.51%	43	2	4.65%	3	6.98%	4	9.30%	3	6.98%	8	18.60%	23	53.49%			
SPANISH	31	91.18%	34	20	58.82%	6	17.65%	2	5.88%	1	2.94%	2	5.88%	3	8.82%			
SPANISH- A LEVEL	1	100.00%	1	1	100.00%	0	0%	0	0%	0	0%	0	0%	0	0%			
THINKING SKILLS - AS Level	78	90.70%	86	11	12.79%	8	9.30%	16	18.60%	29	33.72%	14	16.28%	8	9.30%			
TRAVEL & TOURISM 1	33	76.74%	43	1	2.33%	4	9.30%	12	27.91%	10	23.26%	6	13.95%	10	23.26%			

3251—West Boca Raton Community High						Test Scores													
					Α		В	С		D		E		U					
				#	%	#	%	#	%	#	%	#	%	#	%				
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest																
BUSINESS	5	100.00%	5	0	0%	0	0%	2	40.00%	2	40.00%	1	20.00%	0	0%				
BUSINESS STUDIES- AS LVL	42	36.52%	115	0	0%	1	0.87%	8	6.96%	15	13.04%	18	15.65%	73	63.48%				
DRAMA AS LVL	16	72.73%	22	2	9.09%	3	13.64%	6	27.27%	1	4.55%	4	18.18%	6	27.27%				
ENGLISH GENERAL PAPER	266	97.08%	274	58	21.17%	66	24.09%	71	25.91%	53	19.34%	18	6.57%	8	2.92%				
ENGLISH LANGUAGE - AS LEVEL	197	87.17%	226	13	5.75%	32	14.16%	57	25.22%	54	23.89%	41	18.14%	30	13.27%				
GLOBAL PERSPEC & RESEAR 1	86	98.85%	87	12	13.79%	36	41.38%	33	37.93%	3	3.45%	2	2.30%	1	1.15%				
HISTORY- AS Level	159	65.98%	241	2	0.83%	18	7.47%	37	15.35%	48	19.92%	54	22.41%	82	34.02%				
LITERATURE	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%				
MARINE SCIENCE- AS LVL	85	62.50%	136	2	1.47%	11	8.09%	20	14.71%	29	21.32%	23	16.91%	51	37.50%				
MATHEMATICS	100	91.74%	109	9	8.26%	12	11.01%	27	24.77%	29	26.61%	23	21.10%	9	8.26%				
MEDIA STUDIES-AS LVL	136	84.47%	161	10	6.21%	15	9.32%	53	32.92%	37	22.98%	21	13.04%	25	15.53%				
PORTUGUESE-LANG	23	100.00%	23	9	39.13%	7	30.43%	5	21.74%	2	8.70%	0	0%	0	0%				
SPANISH	43	93.48%	46	9	19.57%	13	28.26%	15	32.61%	4	8.70%	2	4.35%	3	6.52%				
THINKING SKILLS - AS Level	50	84.75%	59	3	5.08%	6	10.17%	18	30.51%	12	20.34%	11	18.64%	9	15.25%				
TRAVEL & TOURISM 1	77	68.75%	112	6	5.36%	9	8.04%	24	21.43%	22	19.64%	16	14.29%	35	31.25%				

3861Seminole Ridge Community								Т	est Scores								
					A		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	<u>%</u>
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ART and DESIGN AS LVL	3	60.00%	5	0	0%	0	0%	0	0%	0	0%	0	0%	3	60.00%	2	40.00%
COMP SCI-AS LEVEL	6	46.15%	13	1	7.69%	0	0%	0	0%	0	0%	2	15.38%	3	23.08%	7	53.85%
DRAMA AS LVL	7	100.00%	7	0	0%	0	0%	0	0%	2	28.57%	5	71.43%	0	0%	0	0%
ENGLISH GENERAL PAPER	217	86.80%	250	22	8.80%	0	0%	37	14.80%	57	22.80%	62	24.80%	39	15.60%	33	13.20%
ENGLISH LANGUAGE - AS LEVEL	178	83.57%	213	6	2.82%	0	0%	24	11.27%	39	18.31%	57	26.76%	52	24.41%	36	16.90%
ENVIROMENTAL MANAGEMENT	59	83.10%	71	5	7.04%	0	0%	10	14.08%	24	33.80%	12	16.90%	8	11.27%	12	16.90%
FRENCH- AS LVL	1	16.67%	6	0	0%	0	0%	0	0%	0	0%	1	16.67%	0	0%	5	83.33%
GLOBAL PERSPEC & RESEAR 1	131	98.50%	133	26	19.55%	0	0%	46	34.59%	33	24.81%	24	18.05%	2	1.50%	2	1.50%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	2	100.00%	2	0	0%	0	0%	0	0%	2	100.00%	0	0%	0	0%	0	0%
HISTORY- AS Level	249	68.78%	362	9	2.49%	0	0%	45	12.43%	57	15.75%	65	17.96%	74	20.44%	116	32.04%
LITERATURE	142	83.53%	170	6	3.53%	0	0%	22	12.94%	31	18.24%	45	26.47%	38	22.35%	28	16.47%
MARINE SCIENCE- A LVL	28	100.00%	28	1	3.57%	0	0%	4	14.29%	8	28.57%	9	32.14%	6	21.43%	0	0%
MARINE SCIENCE- AS LVL	92	82.14%	112	3	2.68%	0	0%	25	22.32%	16	14.29%	17	15.18%	31	27.68%	20	17.86%
MATHEMATICS	8	50.00%	16	0	0%	0	0%	1	6.25%	4	25.00%	1	6.25%	2	12.50%	8	50.00%
MEDIA STUDIES-A LVL	2	100.00%	2	0	0%	0	0%	0	0%	1	50.00%	1	50.00%	0	0%	0	0%
MEDIA STUDIES-AS LVL	25	80.65%	31	0	0%	0	0%	0	0%	5	16.13%	13	41.94%	7	22.58%	6	19.35%
PSYCHOLOGY - AS Level	10	40.00%	25	1	4.00%	0	0%	0	0%	1	4.00%	3	12.00%	5	20.00%	15	60.00%
SOCIOLOGY - AS Level	1	11.11%	9	0	0%	0	0%	0	0%	0	0%	0	0%	1	11.11%	8	88.89%
SOCIOLOGY A LVI	22	100.00%	22	1	4.55%	0	0%	0	0%	6	27.27%	4	18.18%	11	50.00%	0	0%
SPANISH	33	91.67%	36	10	27.78%	0	0%	6	16.67%	5	13.89%	6	16.67%	6	16.67%	3	8.33%
SPANISH LITERATURE	5	71.43%	7	0	0%	0	0%	0	0%	3	42.86%	2	28.57%	0	0%	2	28.57%
THINKING SKILLS - A Level	18	100.00%	18	0	0%	1	5.56%	2	11.11%	2	11.11%	8	44.44%	5	27.78%	0	0%
THINKING SKILLS - AS Level	2	22.22%	9	0	0%	0	0%	0	0%	0	0%	2	22.22%	0	0%	7	77.78%
TRAVEL & TOURISM 1	10	40.00%	25	0	0%	0	0%	1	4.00%	0	0%	1	4.00%	8	32.00%	15	60.00%
TRAVEL & TOURISM 2	45	100.00%	45	2	4.44%	0	0%	3	6.67%	14	31.11%	14	31.11%	12	26.67%	0	0%

4013—Somerset Acade	emy Canyons High									Te	st Scores						
4013 Somerset Acade	citiy curiyons riigii				Α		AA		В	С		D		E			U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ENGLISH GENERAL PAPER	168	85.71%	196	12	6.12%	0	0%	28	14.29%	43	21.94%	46	23.47%	39	19.90%	28	14.29%
ENGLISH LANGUAGE - AS LEVEL	68	52.71%	129	0	0%	0	0%	5	3.88%	8	6.20%	28	21.71%	27	20.93%	61	47.29%
GLOBAL PERSPEC & RESEAR 1	63	100.00%	63	23	36.51%	0	0%	17	26.98%	17	26.98%	5	7.94%	1	1.59%	0	0%
HISTORY- AS Level	20	90.91%	22	2	9.09%	0	0%	4	18.18%	6	27.27%	4	18.18%	4	18.18%	2	9.09%
LITERATURE	59	62.11%	95	3	3.16%	0	0%	3	3.16%	12	12.63%	16	16.84%	25	26.32%	36	37.89%
MARINE SCIENCE- AS LVL	55	67.07%	82	2	2.44%	0	0%	6	7.32%	5	6.10%	16	19.51%	26	31.71%	27	32.93%
MEDIA STUDIES-AS LVL	15	83.33%	18	0	0%	0	0%	1	5.56%	2	11.11%	8	44.44%	4	22.22%	3	16.67%
PSYCHOLOGY - AS Level	62	89.86%	69	8	11.59%	0	0%	13	18.84%	17	24.64%	11	15.94%	13	18.84%	7	10.14%
SOCIOLOGY - AS Level	4	50.00%	8	0	0%	0	0%	0	0%	0	0%	1	12.50%	3	37.50%	4	50.00%
SOCIOLOGY A Lvl	35	100.00%	35	2	5.71%	1	2.86%	3	8.57%	11	31.43%	10	28.57%	8	22.86%	0	0%
SPANISH	1	100.00%	1	1	100.00%	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%
THINKING SKILLS - AS Level	63	68.48%	92	2	2.17%	0	0%	6	6.52%	9	9.78%	12	13.04%	34	36.96%	29	31.52%
TRAVEL & TOURISM 1	57	81.43%	70	7	10.00%	0	0%	8	11.43%	16	22.86%	14	20.00%	12	17.14%	13	18.57%